[(7+4)+(7+7) points] 3
3. A sequence {a,}3°; satisfies the recursion relation

10 o
iy, = n max{dn—1, an—2} — Min{a,_1,dn_2}

for n > 3.
a. In this part suppose that a; =1 and ay = 1/9.

O Fill in the following boxes with the correct values. No explanation is required.

as = I a4 = / A2018 = | —

@ Does the sequence {a,}2; converge or diverge? Carefully prove your claim.
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b. In this part suppose that a; =1 and ay = 2/3.

O Fill in the following boxes with the correct values. No explanation is required.
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® Does the sequence {a,}32; converge or diverge? Carefully prove your claim.
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